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34-04 [T E EXEH

n REATH A OITHRIFTRINCET 2ERERICOWVWT,
|Pn (%, 7; ©) Al = |APL(3, 7; ©)l,
|Qn(%; ) Al = |AQn(%; )| = c|Al,
|Rn (2, 7)A|l = |ARR(3, 7)| = —|A]
ERBZUEERD. ROTGNROHEICSEVNT () ICEDLKEE AN

£.
335 7 0 1 22 4 1 0 0 0
2 3 4 6 357 9| 3 -1 1 -3
122 4/=C )2 34 6/=C )2 -1 0 o
4 9 8 14 42 9 8 14 2 1 4 —2
1 0 0 O 1 0 0 O
31 1 =3 _,.3 1 0 o0
=(J)2 1 0 ol=0)2 1 =1 3
72 21 2 —» 4 -1 5 =5
1 0 0 0 1 0 0 0O
B 31 0 of_ 3 1 0 of_
=C Jl2 1 1 3/=C )2 1 1 of= )
4 -1 -5 5 4 -1 -5 10
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|Rn (2, 7)A|l = |ARR(3, 7)| = —|A]
ERBZUEERD. ROTGNROHEICSEVNT () ICEDLKEE AN

£.
335 7 0 1 22 4 1 0 0 0
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72 21 2 —» 4 -1 5 =5
1 0 0 0 1 0 0 0O
B 31 0 of_ 3 1 0 of_
=C Jl2 1 1 3/=C )2 1 1 of= )
4 -1 -5 5 4 -1 -5 10
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